 EQ 5-2x=8+4\b(2+x) 
 EQ 5-2x-8-4\b(2+x)=0 
 EQ -3-2x-4\b(2+x)=0 
 EQ -3-2x-4\b(x+2)=0 
 EQ -3-2x-\b(4x+8)=0 
 EQ -3-2x-4x-8=0 
 EQ -11-6x=0 
 EQ -6x-11=0 
 EQ -6x=11 
 EQ 6x=-11 
 EQ x=\b(-11):6 
 EQ x=-\f(11;6) [image: image2.png]12




 EQ 5\b(x+2)\b(x-1)=4+x 
 EQ 5\b(x+2)\b(x-1)-4-x=0 
 EQ \b(5x+10)\b(x-1)-4-x=0 
 EQ \b(5x\s\up8(2)-5x+10x-10)-4-x=0 
 EQ \b(5x\s\up8(2)+5x-10)-4-x=0 
 EQ 5x\s\up8(2)+5x-10-4-x=0 
 EQ 5x\s\up8(2)+4x-14=0 
Находим дискриминант.

 EQ D=b\s\up8(2)-4ac=4\s\up8(2)-4·5\b(-14)=296 
 EQ x\s\do8(1,2)=\f(-b±\r(D);2a) 
 EQ x\s\do8(1)=\f(-4-2\r(74);2·5)=\f(-2-\r(74);5) ; EQ  x\s\do8(2)=\f(-4+2\r(74);2·5)=\f(-2+\r(74);5) 
oтвет:  EQ x=\f(-2-\r(74);5)\;x=\f(-2+\r(74);5) .

